Getting you ready to be

“smarter Than A 5" Grader”

Hello my future 5* grader. | hope you are prepared to enter a world of wonder and justification and grow your love
Math. Completing this packet will ensure that next school year you will enter our 5" grade classroom doors
confident, prepared, and ready to “Roll.”

A few facts about yourself to begin:

What is your favorite fruity candy:
What is your faverite Chocolate Candy:
What is your favorite Fruit:

What is your favorite Snack of ALL TIME:

LA S

If you could only Eat one thing for every meal for a month, what would it be:

Rokdckackkad itk *Below please tell me what you are most excited about when you think about coming to school

next year:

A. Place Value:

Ten
‘Thousands

standsfor  sfandsfor  standsfor  stands for stands  stands

8 hundred 3 ten 0 thousands W for for

thousands thousands hundreds 7tens 5 ones
800,000 30,000 0 400 70 5

830,475

Expanded form: 800,000 + 30,000 + 0+ 400 + 70 + 5
Standard form: 830,475

Word form: eight hundred thirly thousand, four hundred seventy-five

Use the example above to help solve the Following Problems:



Write the number in standard form.
7 fifty thousand twelve

Write the number in word form.
388,502

Complete each expanded form.
+ 3,000 + 20 = 33,020

2 159,63 = 100,000 + 50,000 + 9,000 + +40+ 3

©5 280,954 = 280,000 + 900 + +4

Write the value of each digit.

—

Fill in each blank.
‘7 In 33,020, the value of the digit 2 is

2 In 759,643, the value of the digit 6 is

0 [n 80,215, the digit stands for 80,000.

(v In 240,138, the digit is in the ones place.

o In 729,650, the digit with the value of 9,000 is in the
place.



Multiplication:

Step 1 Multiply the ones by 2. Step 2 Mulliply the tens by 2. Step 3 Step U
3onesx 2 = 6 ones Otens x 2= 0 tens Multiply the hundreds by 2. Multiply the thousands by 2.
A TaTo15 S ——— % hundrads x 2 = 8 hundreds 3 thousands % 2 = 6 thousands
EREZRAREES 3441013 . -
X 2 % 2 3441013 3/410[3
BEREERE 0lé X 2 P 2
o | i 18]o]6 | 16,8]0}6

1) 6425 2) 4953 3) 8031 4) 6527
x 7 x 6 X 3 x 9

5\ 4715 6 6906 7) 4472 8 8984
x 8 S, x 6 x 3

3% 2=

6x3=

10+5= 1 18+ 9 =

8x10 =

36+ 6= 40+ 8 =

12+2=

8)(4: 9)(7:

) 72+ 8= 90 + 9 =

) 21+3=




Division:

Example 1: Example 2:
Step 1 Step 2 Step 3 Step Step 2 Step 3
3 1 [3[2] ] a2 F'I"]'a 410 4102
7221417t | hae]a)7) | [Ph2d2i4)7 62411140 | ©)2j4]1]a] | e)i2]al1l4
2] 2] 2 Calal 1| [ela 2|4
1 14 RLICIE 1] ]
14 114 0 0
147 1 114
7 1i2
.10 2
2,247 + 7 = 321 2,W = 6=H02R2

1) 2[4 26

4 3246

2) 3[132 3) 410 8

5) 2|5 6 4 6) 5|1 35
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Name:

( Finding Factors )“\

Factors are the numbers you multiply to get another number.
2x3=6 2 and 3 are factors of 6.
I1x6=6 1 and 6 are also factors of 6.

What are the factors of 67 1,2, 3, and é.

What are the factors of 217 -1, 3, 7, and 21

What are the factors of 317 -1 and 31

What are the factors of 247 -1 2, 3,4, 6, 8, 12, and 24

Find all of the factors for each number. List them in order from least to greatest.

a. 15- , , , b. 25- ; ,

c. 3- , a. 27 - ; ;

e. 18- ; P12 - ,
Now try these.

g 21- h. 31 -

i. 49 - i 16 -

k. 33 - . 20 -

m. 17 - n. 4-

Super Teacher Worksheets - www.superteacherworksheets.com




Name:

( Multiples >

A multiple is the product of a given whole number and
another whole number.

Ix6=6 2Xx6=12 3x6=18
4x6=24 5x6=30 6X6=236
b6X7 =42 6 X8 =48 6Xx9 =054
and so on...

What are the first 6 multiples of 67 6, 12, 18, 24, 30, and 36

1.  What are the first 4 multiples of 97 , , , and

2.  Circle the numbers that are multiples of 7.
Cross out the numbers that are not multiples of 7.

1 7 14 17 21 27 35

3. Circle the numbers that are multiples of 8.
Cross out the numbers that are not multiples of 8.

38 40 45 49 64 72 81

4. Are mulfiples of 4 always even? Explain.

5. Are mulfiples of 3 always odd? Explain.

Super Teacher Worksheets - www.superteacherworksheefs.com




Name:

Date:

J

_ 2) Round 3734 10 |
1) Give the the nearest 3) Compare:
place value of || +housand 6451 6532
the 6 In 12045,
D) 85883 0) 92348
~ 2, 400
W) Circle one: 12 : =
Prime or Composite: 55
7) Solve for the rule .
and finish the pattern, | [8) Give the first | |9 Glve
12,24,36,48, || four multiples for || the
Rule: 8 factors for
30.
10) Multiply 1) 3000 is times
21 x 45 as many as 30.
: 12) Circle even or odd: 51

13) White 12451 in:
Expanded Form

Word Form

) MUH’I\Pl\/ :
71 x10 =
71 x 100 =

1 x 1000 =

15) Round 342 + 237

16) What is the value of the 8 in 78357




17) Draw an area model and array for-MM x 3

18) Compare the fractions: [119) Order the fractions: §

8

N_Il—\
U=

—

8 16 *Least o Greatest
20) Use E and o 10 21.) Give a equivalent fraction to:
Andd, = and draw a model to prove
Subtract:
*Reduce 1o simplest form is possible

| 4L |1 23) A local librar

22) Decompose fhe fraction Z: | (A o0 oW books
tach book cost $6. How
much did the \'\bmry

5 55y Convert spend on new books?

Divide 425 by o= [|026 10 q

fraction.
/ 1




I

/ 7
6 3
26)Use 3 = and 1 || 27) Mulftiply. 6 x ;} :
10: *Reduce 10 simplest form is possible.

_ 5 32
Add: 28) Add — and — =
Subtract:

*Reduce o simplest form is possible. 29) Order the fractions:
2 3 21
30) 4 feet = inches || 10 10" 100
*Least to Greatest
31) 10 pounds = ounces

32) 2 Kilometer = meters 0.5

33) Compare:

() 008

34) Rewrite the fraction 1%3_0 as a decimal:

Label and show the decimal on a number line

-—

>

35) Evan bought two 2-pound packages of chocolate candies
and a 30-ounce bag of smaities. How much candy did Evan

buy all together?

36) Find the area and perimeter:
Areo=

8 feet

Perimeter=

2 feet




37) Kristi recorded how much she ran in miles.

Use Kristls data given to draw and label a

ineolot £L22331131 21
PO T 7Y T

38) Draw
the line(s)
of
symmeTry.

N

39) Find the measurement of fence needed for playground
with fthe length of 65 yards and a width of 21 yards.

ATURE)

40) Main Street and Apple

41 Meadure the anale and

Creek are perpendicular roads. tell whether 1t is an acute,

Draw and label what the roads

obtuse, or right angle

would ook like,

Dt

H2) Draw a 45 degree angle |1 43) Draw a set of parallel
using fwo rays. line segments and label.
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% Terms and meanings ;,
k) U

\:, Fundamental skil +o e

‘9
5

Vocabulary: e, BT 0
| divisor ~ the number of groups to divide into

2. dividend ~ the number to be divided

3. quatient ~ the answer to a division problem

There are 3 ways division problems can be written:

Ex. |

divisor > 2 quotient
J =7
23 ~4=7 4 J 23
/ N\ e

dividend ~ quotient divisor dividend

Application:

SR L S & R &

Ex. 3

o H = 7\\ i dividend divison quatient i
divisor quatient | . _ ]
1 * —— 1

1 1

1 1

B AN A A AR AR AN O AT AR RN R R U MR N AT AN AR UG AN AR NAN RN AEE R I ENEHARY VA MUE LGN B Y AR AR W A NN RGN UOA MMM DR R IO R A E XEBH SN

4z divisor: Elle’ plants 20 flowers in 5 rows. She
"7 =6 dividend: wil have 4 flowers in each row.
quatient:.
divisor: dividend:_____ quotient:
201 ©Kathleen & Mande’
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Meaning of Division

Divide a number to find equal groups.

»%T 2 ’

)
)
.

nderstand meaning}
of division

e, Fundamentol skil o,

%*vq‘ L'l NE)T.E ‘\‘v"'”

LLELERS

o
Ll g
-* — Y.

Peter has 12 cdloulators. He is sharing them equally with +he 4 groups in
his class. How many calculators should each group get?

Think:

in each group?

Show:

4 equal groups

Put IZ caloulators into Y equal groups. How many calculators are

Write:

The equation is 2 + Y = 3.

Draw pictures to solve

IlhInﬂW!Hlﬂlh!hl.HHlHliﬂﬂl!EIHInBﬂ!!&iRlSQWHN!!ﬂNuﬂﬂﬂ‘llﬂilﬂnlllﬂHHHIIHGHKﬁWIK!‘RIlhll!lﬂilulllﬂllll!IHHHHNHNﬂﬁlnnﬂ!lﬁlu'lﬂd.l!l!.ﬂalﬂ!ﬂl

Vicky has 24 candles to
put in & boxes. How many
candles will be in each
box?

You need to arrange 32
chairs into & rows. How
many chairs will be in each

row?

1@ ©Kathleen & Mande’

Chris makes Y bracelets using 23
rubber bands. He uses an equal
number of rubber bands on each
bracelet. How many rubber bands
will he have on each bracelet?

apzHEBI
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",# and division j nnnnn )
N;., Fundamental ki
Relating Multiplication and Division

Multiplication and division share the same fact families,
just like addition and subtraction share the same fact families.

E_x. 5x 3 =40 H +~-3=5 Multiplication and division are inverse
x5 =40 o+~ 5= 9 operations. They undo each ather.

Complete each fact family:

' 6 x[=Y48 120 O X6 ="5H
48+ =01 54+ =[]

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn R RN YA A A A RN S A NN RN RIS AU N AN AR O NN IR NN EO R EN N

Use inverse of multiplication to divide:

Solve HZ ~ 6 Think Say Answer
b x what =42 bx/7=4 W+6=7

Find +he quatients:

L 2+3=__ 2 30+ 6=___ 3 B+t21=
Yy 72+%=__ 5. lb+Y =____ 6. H+5=_
7. Bo+8=___ b W+7=___ 9 4+s=_
0 si+da=__ I WBte=___ 2 M+T7T=___
B 20+5=___ M Mt6=__ B 36+7=___

YNBT.L
2@1% ©Kathleen & Mande’
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=1 Dividing using place }

i 8
1

—_— e
e..and muliples

Divide Using Patterns I

35+65=7 20+5=___ 3+ 3=

350 ~5 =70 200 ~5 = 120 ~ 3 =

3,500 —~ 5 =700 2,000 ~ 5 = ,300 + 3 =

35,000 ~ 5 = 7,000 20,000 ~ 5 = 13,000 -3 =__

W2 +6=7 26+5=__ 77+ 3 =

H20 ~ 6 =70 250 ~ 5 = 270 +~ 3 =

4,200 ~ & = 700 2,500 ~ 5 = 2700 ~3=____

472,000 +~ & = 7,000 25,000 ~ 5 = 27,000 +3=___

Divide using mental math/multiples:

L Mo+Y=__ 2 1000+2=__ 300+ 6=
HOO ~H=___ 5. 7200+ 3=___ S0+~ 9=___

7. 360+ b= ___ 3 H000+5=____ 4,200 ~7 =____

0. B0+5=____ Il 13,000~ 6=___ 2. 3,000 +5=__

3. Trisha bought a pack of goldfish
at the store. There are 240 goldfish
in the pack. She wants to split the
goldfish equally between her four
friends. How many goldfish should

each friend get?

2@15 ©Kathleen & Mande’

amount of cups per hour. How
many cups of lemonade did she
séll each hour?

H. Sydney sold 300 cups of lemonade
in five hours. She sold an equal




Dividing with
rémainders .

Divide with Remainders
The remainder is the part that is left over in a division problem.

N O N N S R e e o e W M S R R | ey

Tony is arranging 22 trophies onto Y shelves so ] _

Hnat each shelf has the same rumber of {| The remainder should
]
1
;

trophies. How many trophies are on each shelf? always be less than
How many trophies are left over? the divisor.

Solve: 27 — Y

22+ Y=

Yy 5x4Y=120 so 22 +-Y4Y=5 R2
22- 4 =5 with 7 left
oveér
5 Sx4=1720-
Divide: 9. Gabriele has 23 lollipops to

share with her 5 friends. She
L 25+7=_r_ 2 73%8=__r_ | wileatthe left over lollpops.
' How many lollipops will each

3 B+2=_r_ 4 B3+3

i
5

friend get? How many lollipops
5 26 +~5= p 6. 33 ~Y= pn will Gabrielle get?

7. 23+ 6b=_r 3 Y +~5=__r_

201H cKathleen & Mande’




Name

A
;
e R s T e R e S ;: ]:dEnI-i-Fy division t+erms "‘: i
lﬂﬂﬂ.ﬂﬂHRﬁﬁli‘lll’lﬂHE‘T!IlllI!Il-.l‘lﬂ.ﬂl,ﬂﬂ'ﬂulﬂﬂ.ﬂﬂﬂﬂH‘Iwal.lﬂ'lﬂﬂliIIlllllll'lll!lll‘lII’Iﬂ.!llnﬂlﬂhn.lﬂl'ﬂll!ﬂl :i and divide Usjng Pbce;ﬂ“-n.'
\:, value, mulkiplication, .
"*.,aand pictures, ®

Put I+ All Together

Label the qudtient, divisor, and dividend.

\L bl Up S

567 8=7 o

R L L L Ll LR R LN R N L e i nImmmmn

Divide using mental math: Complete each: Find the inverse:
b x D= 24 20573 =7  ecausedx7=1
360+6= 720_q= Zq_D=G _ q5+q=

OO = & = 130 + 2 = S =7 =

| | 3 x[_]=us M +7 =

750 + 5 = W20 + 7 = i3+ 3= ] 35+ 5 -

B+ 3 =

Divide using patterns: Draw a picture to solve:

W+7=___ Cheryl has 16 beads. She  § Gavin has 55 SkitHes. He has
WOo~7=_____ uses Y beads to make one | an equal number of red,
4200 ~7 = pair of earrings. How mony | orange, yellow, green, and
. pairs of earrings can she i purple. How many of each
LR — make? i color does Gavin have?

Divide with remainders:
20+ 3
Ab ~ 5 = R
9+ Y= R

Il
v

: YNBT.6
1@ty ©Kalhleen & Mande’ i Pg b




KU N g
ot g

UNBT L

i Use the traditional

algonﬂ‘hm to f |nd
Divide Using the Traditional Method: “Long Division” g uetients 7

' *
d a
. #

LTI

v %
» [
LTI L

DAD T MOM SISTER RROTHER

ROVER
(Divide) (Multiply) {Subtract)

(Bring down) | (Remainder or Repeat)

3/ysa 3 453 3[usa 3lus3

Divide H by 3 Muttiply 3 x | Subtrack Bring downthe 5. | If you bring down a
3 goes into U Put +he answen 3 from H number, you must

once, so put the | under +he Y. Write the answer répeat +h.8 sheps
above the Y. below. again.

Divide Multiply Sub’rmci* Bring down | Repeat or Remander
I I5 I5
3/u53 3453 3/t53 3[s3
-3¢ -3y =3y -3
15 15 15 15
15 -15 -15
0 03
S EEE T R R TR
3 gots into I5 Mukiply 3 x 5 b fram 15 Bring down the 3. | number, you must
five times, so put | PuFtheanswer 1\ answer repeat the steps
+he 5 on top. under the 5. below. agamn.

Divide Muttiply Subtract Bring down Finished ©
15l i5] {5l 151
3us3 3153 353 33 YB3 - 3 =
_3% -3 l -3, __?z\Ll 151 r0
PH ib Is 15
-15 -1 5 -15 =15
03 03 03 03
3 - 3 - 3
R R R o | 0
s RN T e | e
281 cKathleen & Mande’
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Use the traditiond
algorithm to find

T
i MM

.
"
[}
Fl
"
METREEEN]
&,
1)
n
X
D

%

Divide Using the Traditional Method

Dad (divide) ~ Mom (multiply) ~ Sister (subtract)
Brother (bring down) ~ Rover (remainder/repeat) i

Find +he qudtient using the traditional algorithm. Then, muttiply +o check.

x| !86RO n 2

""" qlsw [Motiply +o| | 2las 5l 1

-4 check.

-12 136 -
24 X 4 -
-4 54Y — —

BB AR KSR AR AN RN AN A TN RO R N U U R A N U R R RS B R AN SN A AAA A AR M N G SN N R E O MR R U RSB N R AN R R LU DM B D UET BRI

. 6. Ook Grove Elementary School has 546 students in 2™, 3,
& and Y™ grade. If there are an equal number of students

ﬁgﬁ\ in each grade, how many students are in 4" grade?

O\

201 ©Kathleen & Monde’
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Divide Using the Traditional Method

Dad (divide) ~ Mom (mulriply) ~ Sister (subtract)
Brother (bring down) ~ Rover (remainder/repeat)

4
L3
u
]
L)
2
4
)
“
=
*’

, algorthm to find

HNBT &

Use the +md||-|onal

o
SEuanansh

b:'
.. quotients
‘

Q *+

A +
& 15
Sruauanil

Find the quatient using the 1‘r‘adrl‘lona| algorithm. Then, multiply +o check.

I 2
Y ,S_LI—G: Multiply +o 2,3_7% 516025
ﬁ\L check:
H
-2 1356
22| x4
-20§,  S42M
26 + 17
-4 BM26
2
B T B

fzmpunn

2@t oKathleen & Mande'
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e perineter of a polygon by adding the lengths of each side.

;i 3ma

Lo e T T @{'[ﬁu';_. S+M4+2+3+3 444242+
Joem - 3+3+343=12in. 3434244424343 =43am

Rirections: Find the perimeter.

3cm § 12in,

6 cm

Y f,

Published by Frank Schaifer Publications. Copyright protectad. - I i ‘ C . © Introductory Geometry: Grade 6




Name

Triangles

Lesson 11.2
Reteach

You can classify triangles by the length of their sides and
by the measure of their angles. Classify each triangle.

Use a ruler to measure the side lengths.

Classify the triangie according to its side lengths.

Use the corner of a sheet of
paper to classify the angles,

» equilateral triangle ‘ /\ * acute iriangle .
Ali sides are the same All three angles are acute.
length. i E
« isosceles triangle * obtuse triangle
Two sides are the same /\ One angle is obtuse. The
length. / \\ other two angles are acute,
» scalene triangle ‘ » right triangle

All sides are different One angle is right. The other
lengths, l;x iwo angles are acute.

. It has two congruent sides.
| The triangle is an isosceles triangle.
§ Classify the triangle according to its angle measures.
% |t has one right angle
P The inangie is 2 righi wiangle.
Classify each triangle. Write isosceles, scalene, or equilateral.
Then write actile, obtuse, or right.
1. 2. 3. 10 m
5in.
10m
4‘! 5' // 6
Chaptar Resources ; 11-7

€2 Houghlon Mifflin Harcourt Publishing Company

P



Date:

CLasCifviNg IRiANG ¢

Name:

1. Triangles can be classified by their lengths.
2. Triangles can also be classified by their meaqsures.
3. sides have the same length.
4. Congruent sides are indicated in a diagram with marks.
5. angles have the same measure.
6. Congruent angles are indicated in a diagram with
CLASCIFYING IRIANGL O BY ANGL e m@;\s*ue@
friangle friangle friangle friangle
All angles are One obtuse 3 congruent One right
acute angle angles angle
]
CLaACCiIFYING IRIANGLES BY Side LeNelh

friangle

3 congruent sides

triangle

2 congruent sides

~ friangle

No congruent sides

©To the Square Inch, 2017 www.lothesquareinch.com




Summer Skills Work #1 % ALE KS@

Student Name : Class Name : Math 5 -2

Number of Questions: 45 Instructor Name : Broussard, Casey

Question 1 of 45

Give the digits in the thousands place and the ones place.

6,289

thousands:

ones:

Question 2 of 45

Give the digits in the ten thousands place and the hundreds place.

560,928

ten thousands:

i
hundreds: D

Question 3 of 45

(a) What is the value of 3 in 3,2797?

30,000 3,000 300 30

(b) What is the value of 3 in 4,318?

30,000 3,000 300 30

(c) Let's compare: the value of 3 in 3,279 is { 10 times / 100 times / 1,000 times }
the value of 3 in 4,318

Summer Skills Work #1 | Page 1/16 Copyright ©® 2024 McGraw Hill - ALEKS® is a registered trademark of ALEKS Corporation



Question 4 of 45

Write the number for two thousand seven hundred forty-four.,

Question 5 of 45

Write 35 in expanded form using the numbers below.

I

a3 = e

Question 6 of 45

Write 408,000 in expanded form.
Question 7 of 45
Order these numbers from least to greatest.

39,680 810,902 4,565 5,227

Question 8 of 45

Round 52 to the nearest ten.

Question 9 of 45

Round 6,459 to the nearest hundred.

Question 10 of 45

Round 41,311 to the nearest ten thousand.

Summer Skills Work #1 | Page 2/16 Copyright @ 2024 McGraw Hill - ALEKS® is a registered trademark of ALEKS Corparation



Question 11 of 45
Add,

285
+ 197

Question 12 of 45

Add.

891
+ 97

Question 13 of 45

Add.

285
+ 282

Question 14 of 45

Fill in the blanks.

Rewrite 342 and 205.
342 = 300 + __ + 2
205 = __ 4+ 0+ 5
Add.
342+205 = __

summer Skills Work #1. | Page 3716
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Question 15 of 45

Fill in the blanks, Then, choose the property of addition you used.

Fill in the blanks |Choose the property of addition shown|
- Associative Property
(a) D+4:4 - Commutative Property

- Identity Property

- Assoclative Property
(b} 8+[]=9+8 - Commutative Property
- Identity Property

- Associative Property
(©) 7+(2+4)={(7+2)+[]|- Commutative Property
- Identity Property

Question 16 of 45
Subtract.

957 -

Question 17 of 45

Subtract.

395-14

Question 18 of 45

Subtract,

789—415

Question 19 of 45

Subtract,

442
- 258

summerSkills Work #1 1 Page 4/ 16 Copyright ® 2024 McGraw HIIl - ALEKS® [s a reglstered trrdemark of ALEKS Comporation




Question 20 of 45

Subtract.

2,060
- 751

Question 21 of 45

A toy store had 654 games,

It sold 42 of these games.
How many games are at the store now?

Question 22 of 45

Raina had 372 photos on her camera.

Then she took 45 more photos.
How many photos are on her camera now?

Question 23 of 45

A tiger weighs 617 pounds.

Another tiger weighs 326 pounds.
How much do they weigh total?

Question 24 of 45
Multiply.

33
x 2

Summer Skills Work #1 ] Page 5/16
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Question 25 of 45

Fill in the blanks. Then, choose the property of multiplication you used.

Fill in the blanks ||Choose the property of multiplication shown]
a) Asscciative Property
(@) 5 x D=8 %5 b} Commutative Property

¢) Identity Property
d) Zero Property

a) Associative Property
_ b) Commutative Property

(b) |:|>< 6=06 ¢) Identity Property

d) Zero Property

a) Associative Propetty
_ b) Commutative Property

() 0x2=[] ¢) Identity Property

d) Zero Property

a) Associative Property

e b) Commutative Property
(d) 4x (2 X 7) _{4 % 2) XD ¢) Identity Property

d) Zero Property

Question 26 of 45

Evaluate 5—(4 +2).

Question 27 of 45

Evaluate {5—23} 2.

Question 28 of 45
Multiply.

14
x 3

Question 29 of 45
Multiply.

48
x 7

summer Skills Work #1 | Page 6/16 Copyright @ 2024 McGraw HIll - ALEKS® |5 a registered trademark of ALEKS Corporation



Question 30 of 45
Multiply.

79
x 3

Question 31 of 45
Divide.

3)81

Question 32 of 45
Divide.

8,561 +7

Question 33 of 45
Divide,

834+ 6

Question 34 of 45

Fill in the blank to make the two fractions equivalent.

7

S 40

Question 35 of 45
Fill in the blank to make the two fractions equivalent.

6

e —

728

Summer Skills Work #1 | Page 7/16 Copyright @ 2024 McGraw HIil - ALEKS® Is a reglstered trademark of ALEKS Comporation



Question 36 of 45

54
Write the fraction :@ in simplest form.

Question 37 of 45

35
Write the fraction —— in simplest form.

42

Question 38 of 45

Subtract.
4.1
7 7

Question 39 of 45

Add.

Question 40 of 45

7 1
John picked up a toy with a mass of —— kilograms. Then he picked up another toy with a mass of —

12 12
kilograms.
What is the total mass of the toys he picked up?

Write your answer as a fraction in simplest form.

Question 41 of 45

5 3
It takes Diane g days to drive to her aunt's house. She has now been driving for — days.

8

For how much longer must she drive?

Write your answer as a fraction in simplest form.
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Question 42 of 45

Find the perimeter of the rectangle. Be sure to write the correct unit in your answer,

13 ft

27 ft

Question 43 of 45

Find the perimeter of the square. Be sure to write the correct unit in your answer.

24 cm

Question 44 of 45

Find the area of the rectangle.

7 in

91in
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Question 45 of 45

Find the area of the square.

7 yd

7 yd
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